
Print date: 14-3-2023

RAVAS-2100L Exi

Nr. Item code Description Special instructions Quantity

D0 HOP-KEY-EXI Key housing EXi 1,0

D3 LC-1000-M-350 Load cell 1000 M 350
Serial number is needed when ordering this compoment.

Mandatory for legal for trade systems.
4,0

D4 MP-BOLT-M12-40-CYL-STST Bolt M12 x 40 socket head stainless steel DIN 912 8,0

D5 MP-BOLT-M12-60-CS-STST Bolt M12 x 60 countersunk stainless steel din7991, A2 Needed for stainless steel ssytems or systems with stainless steel fork shoes 4,0

D7 MP-NUT-M12-LOCKNUT-STST Nut M12 lock nut stainless steel din985 A2 Needed for stainless steel ssytems or systems with stainless steel fork shoes 4,0

D8 BA-EXI Battery pack EXi 1,0

D15 SAO-CH-EXI Subassembly, charger EXi 1,0

D17 FR-21-TOUCH-PANEL Front panel 2100 - touch panel 1,0

D18 IN-21-NU-EXI-R76-P7.8 Indicator 2100 NU EXi R76, P7.8 version Option: Legal for trade 1,0

D75 PT-R-RAL3000 Pallet truck Ningbo Ruyi RAL3000 quicklift 1,0

D76 PTP-R-PUMP PT-R Pump 1,0

D77 PTP-R-HANDLE PT-R Handle complete Ningbo Ruyi chassis, standard version 1,0

D78 PTP-WH-ST-AS-180 PT wheel steering anti-static Ø180 mm 2,0

Product changes reserved 1/2



Print date: 14-3-2023

Nr. Item code Description Special instructions Quantity

D79 PTP-R-WH-TL-PU PT-R loading wheel tandem polyurethane 1,0

D80 PTP-R-REP PT-R Repair kit for pump 1,0

D81 FS-H+N+R-STST Fork shoes HU + Noble + Ruyi stainless steel - bead blasted Option: stainless steel fork shoes 1,0

D92 SAO-EP-LEVELSWITCH-EXI-C3041 Subassembly, Levelswitch EXi with C3041 chip Option: legal for trade 1,0

D94 MP-MP-3 Mounting plate load cell 3 mm 12,0

D95 MP-RING-M12 Ring M12, din125A 4,0

D134 SA-HO-JUNC-EXI Subassembly, Junction box for EX systems Includes calibration board EB-4-LC-21-41 1,0

D153 SAO-PTP-R-BRAKE-FO Subassembly, PT-R Footbrake, for painted Ningbo Ruyi chassis 1,0

D214 HO-HI-END-TH-STST-NO-PB Top housing stainless steel, no pushbutton holes 1,0

D215 HOP-HI-END-TH-BOTTOM-STST Bottom plate High End top housing stainless steel 1,0

D235 HOP-PACK-TH Enclosure indicator housing 1,0

D236 MP-MP-STST Mounting plate stainless steel (adaptor plate) 2,0

D237 PTP-J-LIMIT-PLATE-5MM PT handle limitation for PT-J-STST(_PRO) chassis 1,0

D238 HOP-KEYHOLDER-EXI Key holder housing EXi 1,0

D239 HO-EXI-XTRA-RAL3000 Housing 2100 EXi Xtra, RAL 3000 1,0

D240 HOP-HI-END-TH-FIXED-SUPPORT Housing support High End top housing EXi, stainless steel 1,0

Product changes reserved 2/2


